06.01.23 Year 2 Maths- We now know how to subtract a 2 digit
number away from a 2 digit number. Show your working out to work
out the answer to some word problems.

‘Mr'ss Arthur has 37 pairs of socks. She throws 10 pairs oway. How many
pairs are left?

‘There ore 38 children at a party. Only 20 children are left in a game.
How many children are no longer in the game?
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‘ Ateacher has 45 pencils. She gives out 30 to the new children in her class.
How many are left?
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Marcel has 48 [ollies. He shares 20 betwesn his friends. How many does he
hove left?
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Christmas Subtraction Facts to 100

Solve the calculations to reveal the hidden picture.
Each answer has a special colour.

Red Brown Grey Green Black

0-25 26 - 50 51-80 81 -90 91 - 100
Red Brown Grey Green Black
0-25 26 - 50 51-80 81-90 91 - 100
100 - 10| 30-5 | 98-10 |100-15|30-10 | 95-10 | 92-10 | 30-20 | 91- 10
50-20| 40-5 | 38-8 (90-40 | 80-30 |55-20|75-30 | 46-6 | 45-10
100 -50| 90-50 | 48-8 | 75-25 | 55-20 | S6-6 | 36-6 | 59-9 | 65-20
55-5 | 57-7 | 25-5 [40-20 | 45-20 [ 60-40| 20-5 | 34-4 | 43-3
60-20 | 46-6 |35-10(35-15| 10-5 | 15-5 | 50- 40 |100 - 60| 80 - 50
70 - 30 | 90 - 60 70 - 40 | 99 - 50
51-1 |100-70|100-20(100-80| 88-8 |90-70 | 90-30 | 37-7 | 80- 40
36-10 | 55-10 | 80-20 | 100-7 |100-30| 100-5 | 75-20 | 65 - 30 | 85- 35
70-30 | 42-2 |[100-3 (100-1|75-20 | 100-6 | 100-4 | 56-6 | 70- 20




